
Group: 12LD 477-2

Engine: 12LD 477-2   Drawing: F

ELECTRICAL STARTING/ELECTRICAL EQUIPMENT

POS. CODE DESCRIPTION Qty

 02 5041.020 key switch 1

 03 7245.417 dashboard 3 warning lights 1

 03 7245.419 dashboard 6 warning lights 1

 03 7245.421 dashboard 6 warning lights for glow plug 1

 04 9730.325 screw M 5 X 10 4

 06 5840.211 starting motor 24V  2,5 KW (BOSCH) 1

 06 5840.223 starting motor 12 V  1,8 KW 1

 07 9730.045 screw M 10 X 30 2

 08 3203.048 nut  M 6 3

 09 014R.041 alternator 1

 10 4670.058 copper gasket diam. 8,2X12X1,5 3

 11 6745.042 pressure oil switch 0,6 bar (M 12) - red 1

 11 674R.001 pressure switch 1

 12 612R.030 safety plate 1

 12a 7330.019 oil switch connector 1

 13 716R.050 union 1

 14 6491.013 pipe elbow 1

 15 256R.008 crown gear 1

 16 992R.058 screw 5

 18 613R.076 safety plate 1

 20 3617.021 clamp 1

 21 2145.014 regulator cap 1

 22 6740.153 inlet regul.Saprisa 1

 23 9730.031 screw M 8 X 40 2

 24 7362.298 voltage regul.12 V maX 30 A - 5 contacts for alt.2 wires 1

 24 7362.338 voltage regul.24 V 1

 26 8506.130 bracket 1

 27 2186.115 engine wires 1

 28 6491.005 pipe elbow 1

 29 3521.043 spacer 2

 30 323R.003 nut 1

 31 763R.002 washer 1

 32 187R.097 cable 1

 33 187R.096 cable 1

 34 2471.019 collar mm 175 1

 35 2185.882 eXtension wire 1

 42 7555.004 washer diam. 6 2

 44 3617.020 clamp 1

 XX 2186.206 connection wire to control relay 1

printed by LOMBARDINI:   11/08/2010  -      1



Engine: 12LD 477-2  Drawing: F

printed by LOMBARDINI:   11/08/2010


